
Kit:

Kit #: Page:AGP780020

STANDARD REAR ROOF RACK LADDER

1 OF 3

RoverParts.com
www.RoverParts.com • 800-533-2210 • Fax 518-664-6641 • Phone 518-664-6169

For Land Rover LR3 And LR4

List of Contents:
1 - Ladder. 1 - Bracket top. 1 - Bracket Lower.
1 - Bolt kit: 2 - M8 x 35. 1 - M8 x 25. 6 - Flat washers. 3 - Spring washers. 3 - M8 Nuts. 
3 - Adhesive pads for top and lower brackets.

Please check all parts are with the kit prior to fitment.

Installation Instructions: 
1.	 Fit a suitable adhesive pad or a protecting rubber in the location on the top and lower brackets (4+5) (not included in kit)

2.	 Prior of installation, protect the areas which the brackets mount to so you will not scratch the paintwork. 

BA 2172A



Kit:  STANDARD REAR ROOF RACK LADDER Page #:	 2 OF 3

	  Kit #:	 AGP780020

INSTRUCTIONS

RoverParts.com
www.RoverParts.com • 800-533-2210 • Fax 518-664-6641 • Phone 518-664-6169

3.	 Fit top bracket to the top of the ladder in the single elongated hole using the M8 x 25mm Bolt, washer and nut (do not fully tighten at this 
stage).

4. 	 Fit the lower bracket to the ladder in the two elongated holes using the M8 x 35mm Bolts, washers and nuts (do not fully tighten at this 
stage).



Kit:  STANDARD REAR ROOF RACK LADDER Page #:	 3 OF 3

	  Kit #:	 AGP780020

INSTRUCTIONS

RoverParts.com
www.RoverParts.com • 800-533-2210 • Fax 518-664-6641 • Phone 518-664-6169

5.	 Open the upper and lower tailgates. Taking care not to damage the paintwork and you may need a second person to hold the ladder in 
situ while fitting to the rear tailgate. Slot the top single bracket hooked end onto the top of the upper tailgate then do the same with the 
lower twin hooked bracket.

6. 	Check location is suitable and in the correct position that you are happy with and tighten the mounting bolts and nuts.
After a short time, check the hardware is secure and still in the same position and tighten if required.


